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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each |

sentence. Then mark your answer sheet.

1- Your new spokesperson is very --—------ and clearly comfortable speaking in front of
large audiences.
1) impatient 2) willful 3) voluble 4) modish

2- That ring is made from an ---—-—-- of minerals; if it were pure gold it would never hold
its shape.
1) u-::mﬁrence 2) elaboration 3) intervention 4) amalgam

3- Fortunately, the parliament -——- the new law that would prohibit companies from
discriminating according to race in their hiring practices.
1) abridged 2) ratified 3) magnitied 4) persuaded

4- The teacher did not appreciate the student's -———- — and gave him detention.
|} sarcasm 2) advent 3) blunder 4) reverie

5- The police have not vet been able to find the missing child; to all of the scarchers, the
child's location is still a great ———--—-,

1) fallacy 2) enigma 3) remorse 4) sympathy

6. I really feel sad to say that we are now witnessing environmental destruction on an
scale,
1) implicit 2) inadvertent 3) articulated 4) unprecedented

7- Ted was severely ------eev by his colleagues for his use of offensive language when
addressin E the guests.
1) deviate 2) castigated 3) resigned 4) hardened

8- As shrinking military budgets add to economic woes, arms manufacturers are -—---—---
seeking to expand their markets.
1) nocturnally 2) equivocally 3) indecisively 4) aggressively

9- Much to my --------- , | should confess that we don’t have a good indication that women
are actually taking better care of themselves today.
1) indifference 2) verification 3) chagrin 4) jubilance

10- It is to be remembered that living in a ---—--- country is no guarantee vou will

necessarily live a long life.

| ) prosperous 2) conceptual 3) conceivable 4) long-winded

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

Jfits each space. Then mark your answer sheet.

The human question is the big one. (11) «s=cenmes on humans are very thin. Most human
populations that are forced to survive on low-calorie diets are also malnourished and are as
likely (12) --------- from vitamin and mineral deficiencies. (13) ------—-- is on the Japanese
island of Okinawa, Walford notes: “The Okinawans have about (14) --------- the calorie intake
of the rest of Japan, They eat mainly fish and vegetables. They have as much as 40 times the
mneidence of people (15) ————---- 100. They have less diabetes, tumors and so forth than the rest
of Japan.”
11- 1) The data exist 2) The data whose existence

3) Existing data that are 4) The existing data
12- 1) not to die as prematurely 2) as not to die prematurely

3) so not to prematurely die 4) not to die prematurely as

3- 1) Only one exception to know 2) The only exception to know

’H The only known exception 4) One exception is only known
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14- 1) 70 percent of 2) a percentage of 70

3) 70 percent 4) 70 of the percentage
15-1)in 2) for 3) over 4) with

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE 1

Striking is a process in which a small amount of the parent plant 1s removed. This removed
piece. cutting, is then encouraged to grow as an independent plant. Since most plant cuttings
will have no root system of their own, they are likely to die from dehydration if’ the proper
conditions are not met. They require a moist medium, which, however. cannot be too wet lest
the cutting rot. A number of media are used in this process. including but not limited to soil,
perlite. vermiculite, coir. rock wool, expanded clay pellets, and even water given the right
conditions. The environment should be humid (this generally means placing the cuttings under
a plastic sheet or in another confined space where the air can be kept moist) and partial shade
should be provided. also to prevent the cutting from drying out. After cuttings are placed in the
medium, they are watered thoroughly with a fine mist, such as from a nozzle sprayer or a spray
mister bottle. After the initial watering, the medium is allowed to almost dry out before misting
again, with the aim to keep the soil moist but not wet and waterlogged. A fine mist is used to
avoid disturbing plants. In addition. the cutting needs to be taken correctly. It must be taken at
the right time; in temperate countries, stem cuttings of young wood need to be taken in spring,
of hardened wood they need to be taken in winter. It must have the right size and amount of
foliage: length of stem cuttings of soft wood for example need to be between 5-15 ecm and of
hard wood between 20-25 ecm. Also, two thirds of the foliage of soft wood stem cuttings
should be removed. For hard wood stem cuttings. complete foliage removal is necessary.

16- The passage best mentions that..............
1) foliage of soft wood is removed so it can grow quickly
2) length of stem cuttings of wood are usually over 10 c¢m
3) the cutting may dehydrate if it is not put in shade
4) some cuttings grow even on hard plastic sheets
17- Which of the following is NOT stated in the passage?
1) hardened wood cuttings are not taken in spring
2) cuttings can be watered from a nozzle sprayer
3) it is best for a cutting to have all its leaves on
4) even water can sometimes act as medium
18- According to the passage,.............
1) cuttings are often grown as an independent plants
2) the striking cutting needs to be done at night
3) some plant cuttings have perfect root systems
4) striking does not happen in a wet medium

19- The passage is mainly about the............. of striking.
1) ‘mediums’ 2) “techniques’ 3) *definition’ 4) “importance”
20)- The word “coir’ in the passage (underlined) is best related to...............
1) “kiwis’ 2) “dates’ 3) ‘coconuts’ 4) “oranges’
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PASSAGE 2

Shield budding. also known as T-budding. is a technique of grafiing to change varicties of fruit
trees. Typically used in fruit tree propagation, it can also be used for many other kinds of
nursery stock. An extremely sharp knife is necessary: specialty budding knives are on the
market. The rootstock or stock plant may be cut off above the bud at budding. or one may wait
until it is certain that the bud is growing. Fruit tree budding is done when the bark "slips." i.e.
the cambium is moist and actively growing. Rootstocks are voung trees, either seedlings as
Mazzard cherries for many cherry varieties. or clonal rootstocks (usually propagated by
layering) when one wants highly consistent plants with well-detined characteristics. The
popular Malling-Merton series of rootstocks for apples was developed in England. and are used
today for the majority of the commercial apple orchard trees. T-budding is the most common
style, whereby a T-shaped slit is made in the stock plant. and the knife is flexed from side to
side in the lower slit to loosen up the bark. Scion wood is selected from the chosen variety, as
voung, actively growing shoots. Usually. buds at the tip, or at the older parts of the shoot are
discarded. and only two to four buds are taken for use. The buds are in the leaf axils. They may
be so tiny as to be almost unnoticeable. Holding the petiole of the leat as a handle, an oval of
the main stem is sliced off. including the petiole and the bud.

21- According to the passage,.......
1) not more than four buds are usually used on a rootstock
2) the lower slit on the bark is linked with the upper slit
3) the T on the rootstock immediately dries out after use
4) petiole of the leaf includes petiole, bud and a handle
22- It is stated in the passage that.............
1) Mazzard cherries are seedlings varieties of cherry
2) some leaf axils grow more quickly than the leaf
3) stock plants grow above the bud at budding
4) shield budding is not specitic to fruit trees
23- The passage mentions that............
1) orchard trees in England are usually grown from cutting
2) scion wood comes from young alowly growing shoots
3) Malling-Merton series of plants are popular in England
4) the stock plant in T-budding can be a colonal rootstock

24- Fruit tree budding cannot be done infon.............

1) hot weather 2) winter

3) dry barks 4) some fruit varieties
25- The word ‘discard’ in the passage (underlined) is closest t0.........ve0vvnn

I) “put away’ 2) “put down’ 3) ‘put up’ 4) ‘put in’
PASSAGE 3

Pecans were one of the most recently domesticated major crops. Although wild pecans were
well known among the colonial Americans as a delicacy. the commercial growing of pecans in
the United States did not begin until the 1880s. Today. the U.S. produces between 80% and
95% of the world's pecans. with an annual crop of 150-200 thousand tons from more than 10
million trees. The nut harvest for growers is typically around mid-October. Historically, the
leading pecan-producing state in the U.S. has been Georgia, followed by Texas, New Mexico
and Oklahoma. Pecan trees may live and bear edible seeds for more than 300 vears. They are
mostly self-incompatible. because most cultivars being clones derived from wild trees show
incomplete dichogamy. Generally, two or more trees of different cultivars must be present to
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pollinate each other. Choosing cultivars can be a complex practice. based on the Alternate
Bearing Index and their period of pollinating. Commercial planters are most concerned with
the Alternate Bearing Index, which describes a cultivar's likelihood to bear on an alternating
vears (index of 1)0 signifies highest likelihood of bearing little to nothing every other vear).
The period of pollination groups all cultivars into two families: those that shed pollen before
they can receive pollen (protandrous). and those that shed pollen afier becoming receptive to
pollen (protogynous). Planting cultivars from both families within 250 feet is recommended for

proper pollination.

26- According to the passage,............
1) Alternate Bearing Index is for cultivars starting to bear fruit
2) cultivars planted less than 250 feet apart cannot pollinate each other
3) protandrous pecan cultivars shed pollen before they can receive pollen
4) Georgia produces more pecans than Texas and Oklahoma put together
27- The passage mentions that.......cc.ovve
1) wild pecans are known around the world as a delicacy
2) plant cultivars often grow 250 feet apart from each other
3) pecans were not a commercial crop in the colonial America
4) a cultivar's likelihood to spread depends on frequent pollination
28- It is stated in the passage that.............
1) self-incompatible cultivars are clones from wild trees
2) about 95% of the world's pecans grow in North America
3) protandrous plants pollinate before protogynous plants
4) pollination of pecans takes place only if different cultivars are present
29- The passage is mainly about...............as regards pecans.
1) *plant diseases’ 2) *cultivation”
3) “irrigation’ 4) *nutrition’
30- The word *edible’ in the passage (underlined) is closest to that which can

1) *eaten’ 2) “grown’ 3) “harvested” 4) ‘picked’
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